Exercise 1. [8 points] Compute i it 7]
] I e
xercise [8 points] Compute zom 1+ COS(3 ﬂf)

Exercise 2. [12 points] Decide if the series below are absolutely convergent, condi-
tionally convergent, or divergent. Be sure to state which test you are using and verify the

conditions.
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Exercise 3. [10 points] Compute / (x +2)e *d=.
0

_ ) ‘/5(3$3+5x2+x+4)d:c
Exercise 4. [10 points] Compute I s :
I (z* +z2)

1 — sin(2z)

dr for0<t<mn/4
cos?(2x) RO

Exercise 5. [10 points] Compute F'(t) := /
0

Bonus problem: Decide if the function F' from Exercise 5 can be extended continuously
to t = /4, and if so, find F(n/4).
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